
III.

I.

1

8

42

Product.: Lang

K4750 Damona Sp
1. Seite

40

III.

9

II.

V.

IV.

26

6

7

4. Seite25

IV.

2

4

5

3

4

5

I.

II.

39

45
43

41

8400-307

3490-002A

1982-019

8600-070

5135-085B

6536-002A

5131-001B

5135-085B

5131-001B

6536-001A

2001-015
M5x6 Bkny
hernyócsavar

2001-015
M5x6 Bkny
hernyócsavar

4911-165

Belső használatra !

2001-015
M5x6 Bkny hernyócsavar

M5x8 Sf csavar

5025-003A

2001-017

5000-384

2001-484
M5x20 Hf bk csavar

2001-065
M8x25 Hlf csavar

2002-007
M8 Hl anya

7911-1347

2001-046
M6x25 Hlf csavar

6152-2001

6152-2000

6152-1999

6152-1998

9900-1272



Product.: Lang

2. Seite

21

20

19

20

22

14

21

21

24

23

21

15

16

18

17

K4750 Damona Sp

Belső használatra !

1982-001

1982-011

2002-040

2001-042

M5 Önzáró anya

M6x16 Df csavar

5011-413

1982-011

5540-168

2001-106
M5x16 Hlf csavar

1982-001

1982-001

6611-132

1982-001

6611-004A

2003-012
M10 Íves alátét

2003-007
M6 Rugós alátét

5022-412

5011-414

2001-481
M6x16 Hlf

peremescsavar

5012-430B

5011-428A

5600-236A

2001-106
M5x16 Hlf csavar



Product.: Lang

3. Seite

35

1.
Reihenfolge:

Lage des Feuerablenkrahmen

9.

4.

1.

6.

7.

9.

2.

8.

5.

3.

34

31

3332

30

28

35

29

31

K4750 Damona Sp

Feuerraumauskleidung
(9900-1285)

6081-795         1 Stück
6081-796         1 Stück
6081-797A      1 Stück
6081-798         2 Stück
6081-799         1 Stück
6081-800         1 Stück
3411-180         1 Stück

Belső használatra !

3711-180

6081-800

6081-798

6081-797A

6081-795

5490-106

6081-799

6081-796

6081-798



Product.: Lang

4. Seite

10

12

13

27

26

11

V.

K4750 Damona Sp

Belső használatra !

7111-132

8600-070

6536-018

5311-632

5300-553

5311-633



Product.: Lang

5. Seite
36

37

38

6

7

44

K4750 Damona Sp

Belső használatra !
6152-095A

3490-002A

1982-019

4111-016

4111-001

1982-019

2001-065
M8x25 Hlf csavar

2002-007
M8 Hl anya

2001-065
M8x25 Hlf csavar

2002-007
M8 Hl anya


